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The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x10=10
were fratarR fotiE® Tee fm

(a) The difference between traditional and
modern logic is not one of kind but of
degrees / qualities / languages.

( Choose the correct option )

RIS WF g ofReEE iy
APIRTS 72Y IR 2 TA WG9S / QIS / S

Nefg |
( wm Restht aifs Sfrear )
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(b)

(c)

(d)

(e)

1
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(2)

Every compound statement is truth-
functional. [s it true?

ATSRF (A IR TogS! TAEF | 920!
TS ?

Pvyq
~Pp
S.q
What is the name of this rule?

93 fradr am R

Who is the author of the book,
Prior Analytics?
Prior Analytics 93371 Frds @192

A conjunctive function is true if any one
of the conjuncts is true. Is this statement

correct?
Bl AAES T 7Y =W Az o R @It
bl ST A9 2| FIEE TGH?

Shorter truth table method is a part of
propositional logic / predicate logic.
( Choose the correct option )

wmmwwﬁmﬁﬁw_

w$R@E / ReEe SHR@mT 9ot &1 |
( ®a T At Sereat )

" ( Continued )
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( 3)

(g) Give an example of subjectless proposition.

oM 699 @6l TR f |
(h) Truth or falsity is a property of logic /
proposition / argument.
( Choose the correct option )

ool HizAl SPrerel (AR SHR@N / I57 /

e ot
( w% Resm it Sereal )

(i) Ideograms directly stand for _____
( Fill in the blank )
e 522 aerweie et |
( A R o7 )
(i) Are symbols and signs same?

#HoF T oz G @7

2. Answer the following questions in brief : 2x5=10
e ANWIRT 5Y Teq Rl

(a) Give the definition of a proposition
according to modern logic.

iy SFREE PR I A |

(b) Write two distinctions between logical
constant and variable.

T HIT WIF b I TSy qwe A3 qol
sfiafay ferat |
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(4]

{c) If A and B are true statements and X and
Y are false statements, then determine
whether the following is true or false :
I A WF BTG W AF X TF Y Y ,
(SR TS Rt ey ( wpre) AT w4

(Av X).(Y Vv B)

(d) Mention two similarities between direct
and indirect truth table.

HOIF HF AT Forel OfeF 75 ATl
T 1|

(e) Symbolize the following statements :
oo Rfomzs aSPNT FS a3 39 ¢
(i) If it doesn’t rain, then we shall go for

picnic.
I 7eg (R, eEEE A ISt
|

(ii) Tt is false that Russia has won the
war.

930 fw @ R gE e |

3. Answer any four of the following questions :
5x4=20

w1 PR R @ s eE Sew o
(a) Write a short note on the characteristics
of symbolic logic.

AR @ BRErTR faw ot 5]
Gt ferdt |
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. (b) Distinguish between general proposition
and class-membership proposition.

AR I57 HE N TS /4T TS el
ICER G

(c) What is meant by interdefinability among
truth-functions? Explain.

oS TPy WG WBSRH (inter-
definability) e & 32 [ T4

(d) Distinguish between inclusive and exclusive
sense of disjunctive truth-function.

Rerres Sopel Feed Taefe wiF AsE a9y
R Ry FHeT 4|

(e) State the rules of inference that are used
for constructing formal proof of validity.

Ao WIFIRE AT 07 IEAE JIYA 4
e TR oY 4

(f) Write a short note on the uses of symbols
in logic.

wHame 4wt RIA Fw qfb 5y G
foratt 1 :
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4. Answer the following questions :

(6

TR AR Tl

(a)

(b)

A23/759

What is general proposition? Explain the
classifications of general proposition with

10x4=40

proper examples. 2+8=10

ARt 37 T2 ToRE TmaerTm AR B9
criRreiem Gt T4 |

Or / 59
Discuss the points of similarities and
dissimilarities between traditional and
modern logic.
oIS WIF Wiy SERETE Twe <
APE TF CPAPIPTHR ST T4 |

What is logical connective? Give brief
introduction to different kinds of logical

connectives used in symbolic logic. 2+8=

o T IH 57 ASNT skee
IJ|[Fe @[ Rfen ofy A@EENE W
A6 ST |

Or / 93t
What is symbol? What is the role of
symbols in translating our everyday

language? 2+8=

e 57 O Tl T aas T SE
TR TR CFAS S SR W=D 4 |

10

10

10
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(7))

(c) What is truth-function? Construct truth
table for the basic truth-functions. 2+8=10
Torel Fom $7 AfE TOTRREA IR
Aorel Sife Rl o 9 |

Or/ 911

What is indirect truth table method?
Construct indirect truth table to determine

the validity or invalidity of the following
arguments : 2+4+4=10
*iars Aorel oifel F7 Soq oy Weel

3 Wy FEod IRAA s oot it

Sfo 4 :

(i) (R.QvS
R
~Q/..S.R

(i) (PvQ).l~S.Q)
~ S
~Q /o ~P

(d) What is formal proof of validity? What are
the strategies for constructing a formal
proof of validity? Discuss. 2+8=10
WYOR TRPRTS o $7 IOR WiHRSS
o1 95 IR0 5 e Aue T =w?
AL 4 |
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( 8 )

Or / |31
Construct a formal proof of validity for the
following arguments : 5+5=10
oy PR PR WIEOR WS AT 510+
40
(i) (~K.P)D(BVR)
~K>D(B>D)
~KV(RDE)

~K.P .. /DVE

(i) ED(F.~ G)

(FVvG)D H
E /. H
* & Kk
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